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(22) CREH 14 57) WeREL f (x):2+sin(3x+%)cos(x+%]+cos(3x+%)sin(x+%).
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(15) B%h f (X) = cos(3x + %) cos(3x —%) (1) /N IE i A

(16) %y =log, (cosx+sinx) (ngs%) (R f/IME N
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(1) #ta=sin210",b=c0s210°,c =tan210", M| ( )
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(23) CARFHSy 14 43) KB £ (x) = cos xsin X+ 2(cos X +sin X)(x € R) A{E 1.
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2. PR¥Ly=3cosx—4sinx i KEN ( )
(A 4 (B) 5 c 7 (D) 25
13. B%ﬂsinezé, ] cos 20 BN

15. B f(x) = 2cos(§+%) (857N TE JE 1y

22. O 10 43
B AABC [ EI KN 12, =AMWMAA. B, CEEZEHY], KA B K /M.
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5. BR%y =|sin 2x| FE/MER A ( )

(A) 27 (B) z ) X o =
2 4
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6. Ho<a<=, M )
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(A) sina <cota<cosa (B) cota<cosa<sing
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sin50° cos50° HIEA
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8. BR¥y=tanx—cotx f/NEEIA ( )
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4 2
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23. (CA/NEGH 3 10 73D
FE T YRR hm (/N By ARL, BRNEARTTH R B, MiMf7u307, SCE IS 7 fkFd 30°
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(A) %Eﬁrﬂﬁﬁ/ (B) %}Eﬁﬁgﬁ%ﬁ/ C) Eﬁaﬁﬁﬁ/ <D) i =M
9. Eﬁ%ﬂsina+cow=%, Misin*a+cos*a= ( )
(A > B) 1L ) 2 (D) -2
16 16 8 16

BBy =|sin 2x| BB/ IE N

22. CA/MESY 10 40
W AABC =fHA. B. CHixtiiaksiiZa. b, c.E‘%ﬂcosC=2%,a=%(b+c),
K sin A HO{H.
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cosB=%Hﬂ“, sk q Flsin C fRME
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